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Answer: C, D 

QUESTION: 97 
You are working with a company that has an infrastructure based on lightweight access 
points using the advanced feature set. A new security requirement demands real-time 
asset tracking for 800 assets. Which product or solution will provide this function? 

A. Wireless Control System 
B. Wireless Location Appliance 
C. Wireless LAN Solution Engine 
D. Wireless LAN Services Module 

Answer: B 

QUESTION: 98 
Cisco Lifecycle Services approach is a methodology for proactively updating equipment 
before it reaches the end of its life 

A. TRUE 
B. FALSE 

Answer: B 

QUESTION: 99 

Which two of these statements best describe the benefits of WPAv2? (Choose two.) 


A. SSID broadcast prevention 
B. man-in-the-middle attack protection 
C. cost reduction through software upgrades in all existing hardware 
D. dynamic key generation 

Answer: B, D 

QUESTION: 100 
Which of these is an administrative time saving benefit of dynamic signature definition 
files on a Cisco router running Cisco IOS IPS? 
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A. dynamically learns new signatures in real time 
B. dynamically updates signatures from Cisco.com 
C. dynamically configures IPS signature parameters 
D. dynamically chooses which signatures to activate based upon network traffic seen 

Answer: B 

QUESTION: 101 
What are three components of the wireless core feature set using autonomous access 
points? (Choose three.) 

A. CiscoWorksWLSE 
B. Wireless LAH Controller 
C. 802.1X authentication server 
D. Cisco autonomous access points running WDS 

Answer: A, C, D 

QUESTION: 102 

When conducting a wireless site survey, you should take notice_____ 


A. 5 GHz equipment cannot penetrate through walls as well as 2.4 GHz equipment.  
B. 2.4 GHz equipment cannot penetrate through walls as well as 5 GHz equipment.  
C. Mounting antennas near metal objects will slightly amplify the signal. 
D. When determining coverage, you should begin measuring attenuation from the 
middle of the room 

Answer: A 

QUESTION: 103 
How to correct Cisco IOS images to support a customer's security design and 
requirements? (Choose two.) 

A. By using Cisco IOS debug tool. 
B. By using Cisco Feature Navigator 
C. By using Cisco IOS Package Planner 
D. By using Cisco IOS Security Planner 
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Answer: B, C 

QUESTION: 104 
A customer needs approximately 15 to 20 wireless APs for RF coverage. Given that the 
customer is going to use the 1010 lightweight AP with the advanced feature set, what 
other product is required to complete this operational functionality? 

A. 2700 
B. WLSE  
C. 4124 
D. 2006 

Answer: C 

QUESTION: 105 

What are three advantages of the Cisco Integrated Services Router product family? 

(Choose three.) 


A. provides advanced security such as hardware encryption acceleration 
B. provides investment protection through increased modularity 
C. contains integrated wireless access using the 802.11 g/b standard 
D. contains integrated web-based management tools for easy configuration and 
maintenance 

Answer: A, C, D 

QUESTION: 106 

Design phase service component_______includes the development and documentation 

of the test case or cases used to verify that a deployed infrastructure meets operational, 

functional, and interface requirements. 


A. Security Plan 
B. Business Plan 
C. Staging Plan 
D. Systems Acceptance Test Plan Development 

Answer: D 
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QUESTION: 107 
You are Cisco Express Foundation Design Specialist in a company. Your company two 
primary divisions: Sales and Financial. The Sales division is on network 140.10.64.0/21. 
The Financial division is on network 140.10.72.0/21. You want to summarize both 
networks into one routing statement. Which IP address and subnet mask combination 
would most efficiently accomplish this? 

A. 140.10.64.0/21 
B. 140.10.64.0/22 
C. 140.10.64.0/20 
D. 140.10.0.0./16 

Answer: C 

QUESTION: 108 
Which Cisco PIX and ASA feature provides reliable, comprehensive security against 
virus and worm propagation, as well as data theft? 

A. WebVPN for SSL  
B. iPSec 
C. AIM 
D. stateful packet inspection 

Answer: A 

37



For More exams visit https://killexams.com
­

Kill your exam at First Attempt....Guaranteed!
	

http:http://killexams.com



